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Determine the unknown area.
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MTH1W Grade 9 Mathematics

6.2 Sides of Right Triangles

Goal(s) - Use side length relationship in right triangles to solve problems
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Recall...
The Pythagorean theorem states that in a right triangle, the
square of the length of the hypotenuse (longest side in a right triangle;
opposite the 90° angle) is equal to the sum of the squares of the
lengths of the two shorter sides (legs).
5
a? + b?=c?
c
a, a c
. L b
Remember... This relationship is only
true for RIGHT TRIANGLES!
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Determine each unknown area. ™
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A right triangle has legs 5 cm and 12 cm. Sketch the triangle. What
is the perimeter? What is the area?
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A ladder is 4.9 m long. It leans against a wall with its foot 1.2 m
from the base of the wall. The distance from the foot of the ladder
should be about % the distance the ladder reaches up the wall. Is
the ladder safely positioned? Justify your answer.
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